
Sway Bar End Link Kit
GM 1500 | 2014-2018
Part #: 121634 Rev. 03162021

491 W. Garfield Ave., Coldwater, MI 49036  .  Phone: 517-279-2135

Web: www.bds-suspension.com  .  E-mail: tech-bds@ridefox.com

INSTALLATION INSTRUCTIONS
1. Remove old sway bar link components. Start by loosen the 

3/8” nut, then remove the stem bushings, stem washers, 
sleeve and bolt.

2. The new components will be assembled in the same manner 
as those being replaced. 

3. Place1 stem washer followed by a stem bushing on the 3/8”x 
9” bolt. Place the components through the sway bar. 

4. Place another stem bushing and washer on the bolt, followed 
by the 5” sleeve. 

5. Place stem washers and bsuhings in the same configuration 
on the lower control arm. 

6. With the assembly completed on both sides of the vehicle, 
tighten the 3/8” nut until the bushing begins to form to the 
control arm. Reference Figure 1 below if necessary.

FIGURE 1

 

SAFETY WARNING 
BDS Suspension Co. recommends this system be installed by a professional technician. In addition to these instructions, professional knowledge 

of disassembly/ reassembly procedures and post installation checks must be known.

Box Kit

Part # Qty Description

21 2 .625” x .083” x 5.00” Sleeve

37024 2 3/8”-16 Nylock Nut

4805G 8 Small Stem Bushing

B389G5 2 3/8”-16 x 9” Bolt

S10024 8 Stem Washer


